
B

C

E

D

378 56

F

2 1

date modify itemssignal modified by
4

A

B

C

E

D 

F

78 56 4 3 2 1

A
± 0.2500＜X≤1000

± 0.41000＜X≤1500

± 0.51500＜X≤2000

Size Tolerance (mm)

± 0.10＜X≤500

138-inch all-in-one Display Product model

2021-08-XX

28.0
48.0 4026.8

23
7
3.
2

180
 IN

CH

14.9



A

Hooks

M8*25Hexagon head bolts with flat spring washers

A enlarged view
Wall mount bracket

M8*80 Expansion screw set (hole
punched in the wall to fix inside
the wall)

B

C

E

D

378 56

F

2 1

date modify itemssignal modified by
4

A

B

C

E

D 

F

8 56 4 3 2 1

A

Wall Mount Installation Diagram All-in-one Display (180 Inch)

Connection hole to wall Connection plate

Recommended fixing point locations
for wall mounting strip fixing bolts

Installation Instructions:
1. Install the wall-mounting bracket:
a. According to the indicated wall-mounting bracket hole positions, confirm the positions of the drilling holes
on
the wall by combining with actual on-site measurements. Mark the positions on the wall based on height
requirements.
(For a 600x3 wall-mounting bracket, it is recommended to use 6 points; for a 600x2 wall-mounting bracket, it is
recommended to use 4 points. Reserve other positions. Use a level to ensure the accuracy of the drilling points.)
b. Use an electric drill with an M10 drill bit to drill installation holes for M8x80 expansion bolts. The hole depth
should be
10 mm, and the precision requirements should not exceed 1 mm. (If the drill bit is inclined and contacts built-in
reinforcement
parts, a re-drilled hole may be selected)
c. Install M8x80 expansion bolts into the drilled holes, ensuring the distance between the two bolts is 600 mm,
and that
wall-mounting brackets pair up.
d. Check if the mounting distance of the wall-mounting bracket is accurate. The criteria are: 1) level; 2) the
distance between
the two brackets if accurate. Tighten the adjustment screw to check if the bracket meets the requirements.
If any inaccuracy is found, readjust before fixing the bolts.
2. Install the numbering box:
a. Route the inside connection lines and connect the screened signal lines and flexible flat cables (FFC).
b. Each standard box comes with five cable label plates. Fold the top and bottom into each other and adjust the
position
at will. Fix the label plate and insert it into the required hole on the numbering box. Attach the tags on the top
left and bottom
right corners of each faceplate.
3. Screen connection lines:
Connect the internal connection lines and link the power cables, signal cables, and FFC cables.
4. Module connection:
Refer to the user manual for details.

*The three-generation all-in-one wrap-around is
shipped assembled
and no assembly is required on site.
-- Camera & Touch Radar Solution Post Final
Update Installation Instructions

1649

150 150 150 150 150 150 150 150 150

10491049

150 150 150 150 150 150 150 150 150 150

4026.8

2
3
7
3
.
2

Wall mounted bracket assembly diagram

Lower Bezel Control Box

1
1
2
3
.
9

28.0

48.0

1
1
2
3
.
9

1
1
2
3
.
9

3
5

3
5



Technical Requirements:
1. The gaps between modules should be evenly spaced, the surface should be
flat and intact,
with no sharp edges or cracks.
2. All fixed parts should be firmly and securely attached, without any
looseness, leakage, or
cross-threading.
3. The casing should have a good grounding connection.
4. The power cable connection should be reliable, with no occurrence of short
circuits,
sparking, or breakage. The power cable and internal connection wires should
be arranged
neatly with trapezoidal lines secured in place.

version：V1.2

Front view
Power connection diagram

Third generation-180
inch System connection

diagram-Power

notequantityNameNo.

1

2

3

4

30

4

Horizontal interconnection wire between
the boxes - Left side 1

Horizontal interconnection wire 
between the boxes
Vertical interconnection power wire 
between the boxes

Horizontal interconnection wire between
the boxes - Right side 1

1

2

3 4

Power wire (brown, blue, yellow
Power input

Power input wire 15

5

Technical Requirements:
1. The gaps between modules should be evenly
spaced, the surface should be flat and
intact, with no sharp edges or cracks.
2. All fixed parts should be firmly and securely
attached, without any looseness, leakage,
or cross-threading.
3. The casing should have a good grounding
connection.
4. Ensure the signal FFC (Flat Flexible Cable) is well
connected and the adhesive part is
firmly attached.

version：V1.2

Front view
Network wiring diagram

Third generation-120 inch System 
connection diagram-signal

notequantityName
No.

1

2

3

4

30

4

Horizontal interconnection signal FFC between
the boxes - Left side

1

Horizontal interconnection signal FFC between
the boxes
Vertical interconnection signal FFC between
the boxes

Horizontal interconnection signal FFC between
the boxes - Right side 1

1

23 4

version：V1.2

Third generation-165 inch System 
connection diagram
-bottom frame

notequantityNameNo.

1

2

3

4

1

1

1

WiFi module & sender card interface cable
Sender card & power module electronic cable 
end
Button board & sender card FPC

Speaker splitter cable

1

1
2

3

4

Front view
Internal wiring diagram of
the bottom frame

Technical Requirements:
Ensure that the wires are securely fastened with cable
ties, and that FFC & FPC are pre-installed at the
factory.

5

Speaker extension cable 15

L
L

N
N

L
N

L
N



80
0

80
0

1500 1500

3750

14
22

25
46

80

80

1500 1500

1500 1500

3750

14
22

25
46

80

80

40

80

3750

35

56

300 300 300 300 300 300 300 300 300 300 300

Machined hole26- �10

150150 150

76
0

QUANTITY

ASSESSOR

TECHNOLOGIST

REVISE SIGN RENUMBER SIGNATURE DATE

DESIGNER

APPROVAL

SUPERVISOR

COUNTERSIGN

STANDARAIZATION

1:1

SJ

SH

PZ

BZH

SD

HQ

GY

SJT

SHT

PZT

BZHT

SDT

HQT

GYT

GRADE REMARK RATIO

PAGE 1

VERSIONS ：V1.1

MATERIAL FINISH

OLD BASE MAP NO.

BASE MAP NO.

DATE SIGNATURE

WEIGHT

1 PAGE IN ALL

Dimensions reserved for built-in installation

QUANTITY

ASSESSOR

TECHNOLOGIST

REVISE SIGN RENUMBER SIGNATURE DATE

DESIGNER

APPROVAL

SUPERVISOR

COUNTERSIGN

STANDARAIZATION

1:1

SJ

SH

PZ

BZH

SD

HQ

GY

SJT

SHT

PZT

BZHT

SDT

HQT

GYT

GRADE REMARK RATIO

PAGE 1

VERSIONS ：V1.1

MATERIAL FINISH

OLD BASE MAP NO.

BASE MAP NO.

DATE SIGNATURE

WEIGHT

1 PAGE IN ALL

QUANTITY

ASSESSOR

TECHNOLOGIST

REVISE SIGN RENUMBER SIGNATURE DATE

DESIGNER

APPROVAL

SUPERVISOR

COUNTERSIGN

STANDARAIZATION

1:1

SJ

SH

PZ

BZH

SD

HQ

GY

SJT

SHT

PZT

BZHT

SDT

HQT

GYT

GRADE REMARK RATIO

PAGE 1

VERSIONS ：V1.1

MATERIAL FINISH

OLD BASE MAP NO.

BASE MAP NO.

DATE SIGNATURE

WEIGHT

1 PAGE IN ALL

QUANTITY

ASSESSOR

TECHNOLOGIST

REVISE SIGN RENUMBER SIGNATURE DATE

DESIGNER

APPROVAL

SUPERVISOR

COUNTERSIGN

STANDARAIZATION

1:1

SJ

SH

PZ

BZH

SD

HQ

GY

SJT

SHT

PZT

BZHT

SDT

HQT

GYT

GRADE REMARK RATIO

PAGE 1

VERSIONS ：V1.1

MATERIAL FINISH

OLD BASE MAP NO.

BASE MAP NO.

DATE SIGNATURE

WEIGHT

1 PAGE IN ALL

Screen wiring diagram

1. The reserved opening size for embedded installation: 2775*1704mm*55mm (width*height*depth will be adjusted according to the actual situation on
site)
2. The distance between the upper and lower wall hanging bars: 1124mm
3. Overall size including frame: 2694.8*1623.9mm*28.3mm (width*height*thickness)
4. Display size: 2664*1498mm (width*height)
5. Reserve 40mm space on the top, bottom, left and right sides to facilitate the installation of the screen and fill it in later.
6. Reserve a 600*200mm (width*height) movable inspection port in the lower right corner, 700mm from the right side of the screen

1914

1521

Screen installation front elevation Screen installation side view Installation diagram on the back of the screen

Wall hanging strip assembly drawing

K-node diagram

Screen installation plan

illustrate:
1. Before installing the screen, make sure the two beam members are horizontal and
vertical;
2. The wall hanging strip is fixed on the machined rod through M8×80 bolts. If the beam is
not processed, dovetail self-tapping screws can be used to fix the wall hanging strip to
ensure firmness and reliability;
3. The current drawings are based on a height of 0.8m from the ground. If you need to
adjust the height, please adjust it according to the dimensions on site;
4. When the floor height is 0-4.5m, use 40×60 ×3 galvanized rectangular pipes as the ceiling
and ground columns. When the floor height is 4-7m, use 40 ×80 ×3 galvanized rectangular
pipes as the ceiling and floor columns. The height is higher than 7m. The above uses 50 ×100 ×
4 galvanized rectangular tube;
5. Dimensions will be reviewed on-site. If there are any changes, the on-site dimensions
shall prevail. The drawings are for reference only;

180-inch vertical installation diagram 180-inch steel structure diagram

illustrate:
1. Ensure the spacing and verticality of the horizontal bars and square tubes without
causing cumulative errors, and keep the rough side facing forward;
2. All welds must be free of false welds, missing welds, serious undercuts and other
welding defects, and the welds must be well formed;
3. The verticality error of the component shall not be greater than 2mm, and the
horizontal error shall not be greater than 2mm;
4. The layout and construction of the anchor plate shall be adjusted according to the
site conditions. The picture shown in this picture is for reference only;
5. This drawing is for reference only. If construction is carried out in accordance with
this drawing without the approval of the local design department or government
department, all consequences will be borne by the construction party and has nothing to
do with the designer!

25
11
0

25

16
0

11025

160

25

Anchor plate node diagram

Large sample drawing of machined rods
 cutting and drilling made on site by the construction party

1 set of 220V power cord (3 ×4mm� power cord
sheathed cord)

Reserve an active distance of 5 meters, and
the recommended air switch is 32A-2P-D type
air switch)

HDMI cable×4
It is recommended to use three main lines
and one backup line, and reserve an active
distance of 3 meters. If it exceeds 5
meters, it is recommended to use an optical
fiber HDMI cable. 3.5mm interface audio cable (or optical fiber

audio cable) × 2Reserve a distance of 3 meters for
activities

Category 5e network cable × 2 (can connect
to the Internet)
Reserve a distance of 5 meters for
activities

HDMI cable ×2
Reserve an active distance of 3 meters. If
it exceeds 5 meters, it is recommended to
use an optical fiber HDMI cable. PC module option

illustrate:
1. Please note that during embedded installation, reserve an installation gap of 40mm up,
down, left, and right, and then fill in the 40mm gap after the display is installed,
otherwise there will be gaps;
2. Make a movable panel in the lower right corner of the screen for maintenance of
HDMI network cables, etc. The movable panel opening is recommended to be 600mm*200mm
and 880mm from the right side of the screen;
3. The dimensions are reviewed on site. If there are any changes, the on-site dimensions
shall prevail. The drawings are for reference only for installation methods;

illustrate:
1. For HDMI wiring exceeding 5 meters, it is recommended to use Greenlink HDMI
optical fiber finished cable to prevent signal attenuation. Note that HDMI
cables exceeding 20 meters have an input head and an input head. The output
head is placed on the display end, and the wires are numbered from head to
tail;
2. Separate signal wiring from strong current wiring to prevent interference;
3. It is recommended to use D32, 2P-20A, and D-type circuit breakers without
leakage protection for the circuit breaker output from the power distribution
cabinet to the panel;
4. For the network cable, press the crystal ends at both ends and number
the ends;
5. The reserved line for the display end interface of the audio cable is a
3.5mm audio port cable. The mixer is usually a lotus head, which is reserved
according to the actual situation of the mixer;

4026.8

23
73
.2 180

 IN
CH

14.9

11
0

14
22

23
73
.2

11
0

11
24

K

28.3

154.8
4026.8

23
73
.2

14.9

11
0

11
24

14
22

1649

150 150 150 150 150 150 150 150 150
10491049

150 150 150 150 150 150 150 150 150 150

4026.8

14
22

11
24

100
4026.8

23
73
.2 180

 IN
CH

Re
se
rv
ed
 in
ne
r f
ra
m
e s
ize

：
24
53

Reserved inner frame size ：4106

880600

23
73
.2

11
0

Re
se
rv
ed
 in
ne
r f
ra
m
e s
ize

：
24
53

14
22

11
24

4026.8

23
73
.2

Connection board

BEAM 80 ×40 ×3 SQUARE TUBE
（FIXED WALL HANGING STRIP ）

M8×80 BOLTS
（FIXED WALL-MOUNTED STRIPS ）

COLUMN 60 ×40 ×3 SQUARE TUBE
（BEARING COLUMN ）

HOOK UP
M8*25 SCREW WITH SPRING WASHER

CABINET+EDGE WRAP

WALL HANGING STRIPS

CONNECTING PIECE
FASTEN WITH M6*10 SCREWS

Column 60 ×40 ×3
 (load-bearing column)

Column 60 ×40 ×3
 (load-bearing column)

Column 60 ×40 ×3
 (load-bearing column)

Machined rods 80 ×40 ×3 beams (fixed wall-mounted strip beams)
See large sample for details

Machined rods 80 ×40 ×3 beams (fixed wall-mounted strip beams)
See large sample for details

Anchor plate

Machined rods 80 ×40 ×3 beams (fixed wall-mounted strip beams)
See large sample for details

Column 60 ×40 ×3
 (load-bearing column)

Column 60 ×40 ×3
 (load-bearing column)

Anchor plate

Machined rods 80 ×40 ×3 beams (fixed wall-mounted strip beams)
See large sample for details

Machined rods 80 ×40 ×3 beams (fixed wall-mounted strip beams)
See large sample for details

Column 60 ×40 ×3
 (load-bearing column)

Column 60 ×40 ×3
 (load-bearing column)

Column 60 ×40 ×3
 (load-bearing column)

Machined rods 80 ×40 ×3 beams (fixed wall-mounted strip beams)
See large sample for details

Machined rods 80 ×40 ×3 beams (fixed wall-mounted strip beams)
See large sample for details

Anchor plate

central datum line

Reserve movable access points Make a movable board in the lower right corner of the screen.
Used when inspecting HDMI, network cable and other interfaces.

Decoration wall

Decoration wall

Decoration wall

ceiling decoration ceiling decoration

Upright installation
diagram

Upright steel
structure diagram

Screen wiring
diagram

Reserved dimension
drawing

Anchor plate, 160*160*10mm steel plate
(Fixed with M12*80mm expansion bolts)



180-inch wall-mounted installation diagram

QUANTITY

ASSESSOR

TECHNOLOGIST

REVISE SIGN RENUMBER SIGNATURE DATE

DESIGNER

APPROVAL

SUPERVISOR

COUNTERSIGN

STANDARAIZATION

1:1

SJ

SH

PZ

BZH

SD

HQ

GY

SJT

SHT

PZT

BZHT

SDT

HQT

GYT

GRADE REMARK RATIO

PAGE 1

VERSIONS ：V1.1

MATERIAL FINISH

OLD BASE MAP NO.

BASE MAP NO.

DATE SIGNATURE

WEIGHT

1 PAGE IN ALL

Wall mounting strip mounting hole location map

QUANTITY

ASSESSOR

TECHNOLOGIST

REVISE SIGN RENUMBER SIGNATURE DATE

DESIGNER

APPROVAL

SUPERVISOR

COUNTERSIGN

STANDARAIZATION

1:1

SJ

SH

PZ

BZH

SD

HQ

GY

SJT

SHT

PZT

BZHT

SDT

HQT

GYT

GRADE REMARK RATIO

PAGE 1

VERSIONS ：V1.1

MATERIAL FINISH

OLD BASE MAP NO.

BASE MAP NO.

DATE SIGNATURE

WEIGHT

1 PAGE IN ALL

QUANTITY

ASSESSOR

TECHNOLOGIST

REVISE SIGN RENUMBER SIGNATURE DATE

DESIGNER

APPROVAL

SUPERVISOR

COUNTERSIGN

STANDARAIZATION

1:1

SJ

SH

PZ

BZH

SD

HQ

GY

SJT

SHT

PZT

BZHT

SDT

HQT

GYT

GRADE REMARK RATIO

PAGE 1

VERSIONS ：V1.1

MATERIAL FINISH

OLD BASE MAP NO.

BASE MAP NO.

DATE SIGNATURE

WEIGHT

1 PAGE IN ALL

QUANTITY

ASSESSOR

TECHNOLOGIST

REVISE SIGN RENUMBER SIGNATURE DATE

DESIGNER

APPROVAL

SUPERVISOR

COUNTERSIGN

STANDARAIZATION

1:1

SJ

SH

PZ

BZH

SD

HQ

GY

SJT

SHT

PZT

BZHT

SDT

HQT

GYT

GRADE REMARK RATIO

PAGE 1

VERSIONS ：V1.1

MATERIAL FINISH

OLD BASE MAP NO.

BASE MAP NO.

DATE SIGNATURE

WEIGHT

1 PAGE IN ALL

Dimensions reserved for built-in InstallationScreen wiring diagram

1The reserved opening size for embedded installation: 4106*2453mm*55mm (width*height*depth will be
adjusted according to the actual situation on site)
2. The distance between the upper and lower wall hanging bars: 1124mm
3. Overall size including frame: 4026.8*2373.2mm*28.3mm (width*height*thickness)
4. Display size: 3996*2248mm (width*height)
5. Reserve 40mm space on the top, bottom, left and right sides to facilitate the installation of the
screen and fill it in later.
6. Reserve a 600*200mm (width*height) movable inspection port in the lower right corner, 700mm from
the right side of the screen

1914

1521

Screen installation diagram Wall hanging strip assembly diagram

Installation diagram on the back of the screen

Screen side installation diagram

Screen front installation diagram

Wall hanging strip installation front elevation

Wall mounting strip installation plan

Wall mounting strip installation side view

illustrate:
1. Check whether the wall hanging strips are on the same
horizontal and vertical surfaces;
2. Dimensions will be reviewed on-site. If there are any
changes, the on-site dimensions shall prevail. The drawings
are for reference only;

1 set of 220V power cord (3×4mm� power cord
sheathed cord)

Reserve an active distance of 5 meters, and
the recommended air switch is 32A-2P-D type
air switch)

HDMI cable ×4
It is recommended to use three main lines
and one backup line, and reserve an active
distance of 3 meters. If it exceeds 5
meters, it is recommended to use an optical
fiber HDMI cable. 3.5mm interface audio cable (or optical fiber

audio cable) × 2Reserve a distance of 3 meters for
activities

Category 5e network cable × 2 (can connect
to the Internet)
Reserve a distance of 5 meters for
activities

HDMI cable ×2
Reserve an active distance of 3 meters. If
it exceeds 5 meters, it is recommended to
use an optical fiber HDMI cable. PC module option

illustrate:
1. For HDMI wiring exceeding 5 meters, it is recommended to use Greenlink HDMI
optical fiber finished cable to prevent signal attenuation. Note that HDMI
cables exceeding 20 meters have an input head and an input head. The output
head is placed on the display end, and the wires are numbered from head to
tail;
2. Separate signal wiring from strong current wiring to prevent interference;
3. It is recommended to use D32, 2P-20A, and D-type circuit breakers without
leakage protection for the circuit breaker output from the power distribution
cabinet to the panel;
4. For the network cable, press the crystal ends at both ends and number
the ends;
5. The reserved line for the display end interface of the audio cable is a
3.5mm audio port cable. The mixer is usually a lotus head, which is reserved
according to the actual situation of the mixer;

illustrate:
1. Please note that during embedded installation, reserve an installation gap
of 40mm up, down, left, and right, and then fill in the 40mm gap after the
display is installed, otherwise there will be gaps;
2. Make a movable panel in the lower right corner of the screen for
maintenance of HDMI network cables, etc. The movable panel opening is
recommended to be 600mm*200mm and 880mm from the right side of the screen;
3. The dimensions are reviewed on site. If there are any changes, the
on-site dimensions shall prevail. The drawings are for reference only for
installation methods;

Wall mounting hole
location map

Wall mounting hole
location map

Screen wiring
diagram

Reserved size drawing

4026.8

23
73
.2 180

 IN
CH

14.9

11
0

23
73
.2

11
0

4026.8

23
73
.2

14.9

11
0

28.3

48.3

54.6

11
23
.9

11
23
.9

600 450 600 600 600 600

1649

150 150 150 150 150 150 150 150 150
10491049

150 150 150 150 150 150 150 150 150 150

K

4026.8

1049 1049 1649

1 1

600 450 600 600 600 600

1049

1

1049

1

1649

11
23
.9

600 450 600 600 600 600

1049
1

1049
1

1649

4026.8

23
73
.2

4026.8

23
73
.2 180

 IN
CH

Re
se
rv
ed
 in
ne
r f
ra
m
e s
ize

：
：
24
53

Reserved inner frame size ：4106

23
73
.2

11
0

11
23
.9

Re
se
rv
ed
 in
ne
r f
ra
m
e s
ize

：
24
53

55

880600

Screen hook

M8 Expansion screw
wall hanging strip

Wall hanging strip
 connecting piece

Cabinet

K-Enlarge image

Connection hole with wall Connection board Wall mounting bar fixing bolts
Recommended fixed point locations

The height above the ground is adjusted according to the actual situation on site.

The height above the ground is adjusted according to the actual situation on site.

wall wall

center datum

Reserve movable access points Make a movable board in the lower right corner of the screen.
Used when inspecting HDMI, network cable and other interfaces.

Installation Notes:
1. Install wall hanging strips
     1. Determine the punching position of the wall hanging strip according to the hole size of the wall
hanging strip in the installation diagram, and draw points on the wall based on the on-site screen height
requirements from the ground.
(It is recommended to use 6 points for the 600*3 wall hanging bar, and 4 points for the 600*2 wall hanging
bar, and the others are reserved holes; the drilling position needs to be precise, and you can use other
instruments such as a level)
      2. Use an electric drill to drill M8*80 expansion screw mounting holes at the tracing points, with a hole
diameter of 10mm and an accuracy of no more than 1mm (if the hole is missed or hits the internal steel bars
of the wall, other reserved holes can be selected)
     3. Use M8*80 expansion screws to install the wall hanging strips, and use 6 M6*16 fixed connecting pieces
to connect the two wall hanging strips.
     4. Check whether the installation of the wall hanging strips is qualified. Pay attention to: 1) levelness; 2)
the spacing between the two rows of wall hanging strips; if adjustment is needed, loosen the expansion
screws, adjust slightly by hand until they are qualified, and then tighten the screws.
2. Install the box
     1. Hang the boxes on the wall-mounted strip through hooks in order of numbers
     2. Each row of boxes is composed of 6 consecutive boxes, which are connected together with upper and
lower hook locks. Pull out the side spring positioning pins so that the positioning pins are fully inserted into
the matching positioning holes, and connect the left and right sides between each row of boxes. Tighten the
side lock with an Allen wrench
3. Screen wiring
     1. Refer to the internal wiring diagram to connect the power cable and signal FFC cable.
4. Module installation
     1. Refer to the user manual for details.

D
IM

D
IM

11
23
.9


